-
—

rEBEYRIBEERS-_FPREGERH

FE P |- || =]z |7 ]|
%] 2 4 [ 5] 6| 7| 8 [6-7. 113-15#4#¥ -8 fgcr Bafzip GGF1/271 F1) o
10. #fr B & & p - ©10:00-11:008 4~ % B+~ 3 «g(g EFEH)O11:00-11:30m 2 422 F ¢
©11:30-12:004p 4~ IEP € 3% = 10. 11328 & S K7 FF L 4 EFH d 3 FY Frie-KEFRE
Gk oo
- 91 10111112 13 ) 14 115 1.z FREp - ©08:00-10: OO%EW%%&\JHM#%%\%B&?%%%~é§ﬂ=§c"hﬂ'ﬁ AR
BEH < #O10:00-11:00F EL M FEA L RFF? EO11:00% 3 38 F ke 12, 53014 o
= 1204 =84 i~ 8% 5 7 ?ﬁﬂﬁ éi(?iﬁﬁ%“?)ol4.§ﬂm‘f%z\hf€%’é’ﬁréio
Ot FrE1d2 B e - @ﬁ?ﬁ?ﬂiﬁg T8~ & B 4 o 17-18. Sipl o Y
(Z) - 18. %8P peF sF1F4¢ G2 18 %‘naﬁ,;;xmﬁaﬁa @R L 019, F = ¢
- |16 [ 17 [ 18| 19]20 |21 | 22 |3 » &4 &3P € (13:10-14:00) - 19.13 00-16:00% = F ¥ s F (L ukz~ ) 19.% =
X B E - 19-21. 250 | HEFEER € 020.*5%%‘33%021.«’5?& &% 5 50%
CRPMRFEEP E AP RURTEEFTFHESAPUTR 2. A E
O+ L RFIFEF Hidzs % 021, «%‘3»1{" T AE NG E(TE)26-27. - BF
= |23[24 25262728 I |&%- S H4mEHERY ) 2T Fr =z H 27 FL2 EA R v Rz H 27~ FFE %
Z SRR E (RY) ©
A ERE R - A HBEERE) o4 F =% 5 0V FH o5 AAM(- ) 5. RPABF~EFHAR
e [ 213|456 7|8 i06.?;'.3$~F,@ﬁ%ﬁi«&#%a;;ﬂﬁ—l&ﬁ pévwﬁi;\%ﬁ“‘?}ﬂlk“&ﬁpﬁvw
PFfh ko
O %27 FiF - 10«%‘3 EAR LM e Ak o 10PN e AR o 10-11. % = 8 ¢
= . F o115 KPP w2 N F A o 12 2B R o 12, TR F a7 S EtEsie s
S R U RER REAREY BTN ) A S S ) it o j«%/uw »Liﬁr»;wja#éw iy
Fa e lmzfHt o
16. i[&]mwmb%iéﬁ—ﬁa (FARIBPREP ) - 18 F =27 T 35w -
A |16 17 [18[19[20 |21 | 22(18. ~ &% 5 &p22 o 10 ALBM(= ) o 19, & ¥4 H5c% - gtfﬁ\&},@m%(%:w)ozo—m.%
- 3= %——«ﬁﬂﬂ%’ 20 ~ FRERHHEL) o
) Op Mpipe HiF 2 26-28. 8 - 7T 537 2T~ F/e H¥ 5 -HESE 22 283 -
= | 23|24|25]| 2627|2829 T
AN 180311 [ 23145 1.8 =xF/vBH? FS5 _HFRPHEXFERAE CLFTEWTHEEF 367G E-
el 7lsloltolirlie @M? i?’m&“711 i 1%1‘”” 39.:?/5%%%&*(_) 9._;1“3'%%&‘?%% 11-16. 3 = 7
B EAS- IS e B FER(CRY R REAEIL) o 11-13. 3 ¢ BB AEALE -
- [ 1314 15[16 | 17|18 [19]16. L/a= " L4 p (14:00%%) -
OkB%x 22 Fi¥ -21-22. 8 = H R 7 2142, F - ~ = PFAKRRE - 23 B = 4145 T°L -
e 20| 21| 22| 23] 24 25 | 26 23.&@1(;)_0’243.?&5\#&;%4ﬁ”};% BEF 2L REF D 23 szzwa—va (14:00-
z 15:00) = 24. % = o d 3% © 25, T2 7 BROF S 0 26-27. m Ho B K-~ Hplsk 0 26-28. B &
FRBF
28-29 ~ 5/1. ﬁiﬂ’/\%%%ivfﬂiiiéo%.%iﬁﬁ%%ﬂE'”'»‘?’G‘%ﬁ%]%é“ioiﬂo.ﬁi_@(ﬂrﬁ
30 PRI T FLFF 0 5/1-31. ﬁ]ﬁﬁ,‘p\wmﬁ” LB=HAT2p ¥ FHMRBL(ZEY
- (27 28[29(30| 1] 238 |x5)- 1.w§/m49tv';;%“-r PB(IE)FAFR(ERp7ELEP )2 1132173 4B
?‘ﬁi‘%i%?ﬁi‘é#—(’. @ég 3.3 it ALK Y H(8:00-12:00) -
3R T SIS o4 Bk o
Lz 456|789 |10|OFrkFErzEF -6 FELZFL 52T AB(I)-
12-13. 8- 3 - %= =g+ ¥ 12 13 B A E/ /e Y GRS A FY s o 14-15. 5 =
ce il ol sl il 5116l %ﬁw}f{ow.%?ﬁiﬁ;ﬁ PErep dp R g o 15-19. 3 28 » s~ 59
Btk 16.F R KT g%%isr(lz:ooﬂéiﬁ) o [5/14(Z)%5& 225/16(3F )% 45 An st
. #] ~1T-18. WP kv €% -
N 20. % - F = Fo W FEHEEEL 2 M) 2L B FHHL FH R
L7 |18 19[20 |21 (222324 |24 eRAFEFALLIHA B I-¢3A1 ek R(FaBF T H)19-23. p + %7 %
& o
. O in#Ef i+ 3 Hik - 5/26-6/3. (T£3 % - 27 & £ ¥H = Hkid 228 2 L LA F o
Bl 26 27| 28| 29 . 29.rs—rs— A d 0 0 5/30-6/1. 3= &g i o
2. 2 ¥ AH(6/27 T HALL6/4T EHD) L RPN AEY FEF L E(FO6-TH) 2%, w Ho
L - 1 9 3 4 5 6 7 E‘%‘/‘}%J—%B"{’E 5%’%@&%%-]‘ ,l@(}m)%ﬁg—f( B TR P ) o 56.‘§@
FEPL v IE §EERA A 0 RE TR oA BV FATH(ERATEL
P)e
R OQiripire$F-12. Y a2 o s o 12. %@ d 2P L - 135, 2 Y 30
A8 91011 (121314 (B2 3y »HER (L AHFp37)o 157, 2 FY G4 3aqh) » F 4 o 1530, Mstv"%ﬁh*
R >FR (A FpgT)e
18 Feh B3t 4 #eF-p AP FAR 18 2- Fp LBV FEFL E(56-T8) -
4 | 15| 16(17| 1819|2021 Zo.é,;,\%ﬁﬁ%%/;ﬁ%y%i0
+ 2212324 [25]26] 27| 28126-27~30.# %% -
. 30. BHEE 2. F- PRI ZPAXEH A B LFDPIHELE) L F--PAT 2P A
o | EO R 0 sk ) |
2E[ 6| 7|89 10]11[12]10-11. 8- %=8Hid - 11-12. » $ 5%




